8002320

Plan No
E00011656 /A

LO
(@))
S 9
o 3|
@) NI
L] g8
n | - N
O | T
) ©) o)
O | I S
o m MQD
O | Oql2Ee
o < = N
oL N
Qe
R% ©
O 7 [3l&
= EQ|A
RIS
)
nlu_ 3
o o0

Date
Initials

E00011656/A




Bill of Material Bill of Material Bill of Material
No. Plan Article Quantity No. Plan Article Quantity No. Plan Article Quantity
1 Left 1904436 1 43a 1909858 2 73 1909882 1
2 Right 1904435 1 43b 1910687 2 74 1909883 2
3 1909823 2 43c 1915971 2 75 1909892 4
10 1909824 2 44 6087 1909871 4 76 1909893 1
11a 1909825 1 45 1909862 2 77 1909894 2
11b 1912732 1 46 1917786 (L) 1 83 Left 1909945 1
15 1909826 2 48 1909860 2 84 Right 1909946 1
17 1916432 2 51 1919790 2 89 1909895 1
18 1915016 1 57 1909874 2 92 1909896 2
24 1909829 2 58 1909876 2 93 1909897 2
25 1909846 2 59 1992559 4 95 1909898 2
26 1909847 1 61a 1909859 2 96 1909899 2
27 1909848 1 61b 1910688 2 106 1909901 1
28 1909849 1 61c 1915971 2 107 M5x50 ISO7380 1910277 1
29 1909853 1 62 608RS 1909872 4 108 M8 DIN986 1902024 4
33 1909854 2 66 1909862 2 109 M8x64 1911162 2
38 1909855 2 67 1909863 4 110 M6x40 1ISO7380 1006111 2
39 1909824 2 69 1909878 2 111 M6 DIN125 1000973 4
40 M6 1909856 4 70 1909879 1 112 M6 DIN986 1008492 4
42 1917787 (R) 1 71 1909880 1 113 M5x32 1902835 2
72 - 1909881 1 114 M8x88 1911161 2
115 M6x42 1912333 4
117 1916122 2
118 1910787 1
Notes @ 0]
11a = Old 8
11b = New (from 31/05/2016) N
43a = Old %
43b = from 11/2014 Replaces EO00895 | ©
43c = from SN D1917469
61a = Old ROLLATOR QUADRI LIGHT Plan No.
61b = from 11/2014 Sheet 2/2 F00011656 /A
6lc = from SN D1917469 Scale:  1:8 Drafted Verified Confirmed 3 V/’
E00011656 / A 42 = from 11930250 bae | 08/12/2013 | 27/03/2025 | 27/03/2025 | (\\M '
46 = from H1930256 T 3D 3D Py \Cft




